<op/p. > (%)

8OF tH F TTHHH T e
N 1 R AR SRS S
aoF- 14 -4t R
20F-{}{{1 RIS
0;— e
=20 |1 '1“:7 """"""""""""""
~40F- S e
oo I
~gof-
100F—rldl
1.5
o5t -4] : :
of 1 $ :
10% ! TPl[g)T (PCA f%)otz)eamlin%93
5: N N
abep A e
3 : e
2F 1 S
12_ 0 0 + ¥ """"""""""""
oF-¥ TEHT it
=3 £ A RS
-2F 11 SRR B
- 101U 1111 S S
_42_"""""2 T T : """"""""""""
-BF bl :
| S 0 X S EEEERers

o
[N

<3 @> (rad)
<)
o [
)

EPEETTETTTT B M T | BT BT
N +11[: : :

[ EANHA

o o+ +

- + 5 .

| S R £ = S S ST 10 D -
4 : T T4T :

- *

o -+

=
o2
iN

2 3
1 TPlpoT (PCA t%obeamlinélf)

~ F
(<=3 F
6'0.15_— """
o F
o C
vy 0.l

..............

................

_ . 1 FETETH | B EETITY B R T
o0~0.2F—r+ - ;
IS E 1| 3T :
04 1 13 I +F 4 b e eeemmeesaaeaaaas
o4 [+ +
05F -t -HA AT A-f 454t

=
o
iN

1

2 3
TPlpoT (PCA t%obeamliné[f)

—=— DQM_original_step2_ttbar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew6_step?2_tthar-phasel-newgeom

[y
o
I8

: 2 3
TPlpg)T (PCA t%)obeamlin%)o

— 100

M

o+

e A

-80 %[ A
L ol A A1 T B

o 1OO—rT S FTITIE :
g BT 4
0.5F--% RS SR O iRl EEREETEET R PEEPERPERS

1

2 3
TPl[g)T (PCA f%)obeamlinép



	Contents
	Page 1


